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7 Errata 
In P1 and P2, the error bars bar chart describing the N1m amplitude shows half of 
the standard error of mean (SEM) instead of full SEM, which is stated in the paper. 
Thus, the error bars should be twice as long as they are in those papers. 
 
 
In P2, Table 1. (Vowel, Left hemisphere) Degrees of freedom of the ANOVA for 
the vowel are wrong. This can be corrected by changing F[9,63] to F[7,63]. 
 
 
In P6 the right side of equation (11) should be multiplied by a constant 1/J where 
J=32, i.e. 
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